# NA CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Form ACO-1 September 1999 Form Must Be Typed

Operator: License # 8061  Name: Oil Producers, Inc. of Kansas  Address: P.O. Box 8647  City/State/Zip: Wichita, KS 67208  Purchaser: NCRA/Oneok  Operator Contact Person: Diana Richecky  AUG 2 7 2004  KCC WICHITA	API No. 15 - 097-21539-00-00  County: Kjowa
Phone: (_316) _681-0231  Contractor: Name: _Duke Drilling Co., Inc  License: _5929  Wellsite Geologist: _Paul Gerlach  Designate Type of Completion:  New Well Re-Entry Workover  Oil SIOW Temp. Abd.  Gas ENHR SIGW  Dry Other (Core, WSW, Expl., Cathodic, etc)  If Workover/Re-entry: Old Well Info as follows:	(circle one) NE SE NW SW  Lease Name: Booth Well #: 1-28  Field Name: Glick  Producing Formation: Viola  Elevation: Ground: 2096' Kelly Bushing: 2107'  Total Depth: 5720' Plug Back Total Depth: 5500'  Amount of Surface Pipe Set and Cemented at 784 Feet  Multiple Stage Cementing Collar Used?
Operator:  Well Name:  Original Comp. Date:  Deepening  Re-perf.  Conv. to Enhr./SWD  Plug Back  Plug Back Total Depth  Commingled  Docket No.  Dual Completion  Other (SWD or Enhr.?)  Docket No.  5/11/2004  Spud Date or  Recompletion Date  Date Reached TD  Completion Date	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Kansas 67202, within 120 days of the spud date, recompletion, workow Information of side two of this form will be held confidential for a period of 1	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation are complete and correct to the best of my knowledge.  Signature:  Title:  Date:  8/26/04  Subscribed and sworn to before me this 26 day of August  Notary Public:  August  Public:  Public:  Public:  Date:  Public:  Pub	KCC Office Use ONLY  Letter of Confidentiality Attached  If Denied, Yes Date:  Wireline Log Received  Geologist Report Received  UIC Distribution
Date Commission Expires: Jan 1 7 200 DIANA L. RICH	JECKY of Kansas

My Appt. Expires 1/12

	c i / '= = = = =				ooth		Nou #. 1-28	*	
						We co	Well #.		
and closed, flowing very, and flow rates	and shut-in pres if gas to surface	sures, wi test, alo	netner sni ng with fir						
heets)	✓ Yes	No			j Formati	on (Top), Depth and		✓ Sample Datum	
ogical Survey	☐ Yes 🗸	No No			44				
,	Yes ✓ ✓ Yes	No No		see n	ote #1				
utron/Density Pl g, Dual Induction Report	n Log, Sonic L	OG, MIC	RECORD						
<del></del>	<del></del>						# Sacks	Type and Perce	
Size Hole Drilled					Depth	Cement	Used	Additives	
	8 5/8"	24#			784'	see note #2	see note:	see note #2	
	5 1/2"		14#		5527'	see note #2	see note	see note #2	
							<u> </u>		
	ADD	ITIONAL	CEMENT	NG / SQL	EEZE RECOR	D			
Depth Top Bottom	Type of Cer	nent	#Sacks	s Used	Type and Percent Additives				
					see initial o	completion repo	rt		
	TON DECORD R	tridae Plua	s Set/Tyne		Acid, Fr	acture, Shot, Cement	Squeeze Reco	rd	
Specify	Footage of Each In	nterval Per	forated		(4	Amount and Kind of Ma	terial Used)	Dep	
see initial comp	oletion report								
					·				
	<u> </u>							-	
· 							<u> </u>		
Size 7/8"	Set At 5298.75'	1		At	Liner Run	Yes V No			
Production, SWD or	Enhr. Prod	lucing Meth	nod	Flowin	g <b>⊌</b> Pum	iping Gas Li	ft Oth	ner (Explain)	
Oii 40	Bbls.	Gas	Mcf	Wat	er	Bbls.	Gas-Oil Ratio	Grav	
	w important tops are and closed, flowing very, and flow rates surveyed. Attach fineets) ogical Survey  Utron/Density P. g., Dual Induction Report  Depth Top Bottom  PERFORAT Specify See initial comp	w important tops and base of forma and closed, flowing and shut-in preservery, and flow rates if gas to surface surveyed. Attach final geological we heets)  orgical Survey  Yes  Yes  Yes  Yes  Yes  Yes  Yes  Y	w important tops and base of formations pen and closed, flowing and shut-in pressures, will very, and flow rates if gas to surface test, alo surveyed. Attach final geological well site reports and surveyed. Attach final geological well site reports are possible.    Ves	w important tops and base of formations penetrated. It and closed, flowing and shut-in pressures, whether shivery, and flow rates if gas to surface test, along with filesurveyed. Attach final geological well site report.    Yes   No	w important tops and base of formations penetrated. Detail all cand closed, flowing and shut-in pressures, whether shut-in pressurery, and flow rates if gas to surface test, along with final chart(streyed. Attach final geological well site report.    Ves	wimportant tops and base of formations penetrated. Detail all cores. Report and closed, flowing and shut-in pressures, whether shut-in pressure reached sery, and flow rates if gas to surface test, along with final chart(s). Attach extrements and flow rates if gas to surface test, along with final chart(s). Attach extrements are very, and flow rates if gas to surface test, along with final chart(s). Attach extrements are very, and flow rates if gas to surface test, along with final chart(s). Attach extrements are very and flow rates if gas to surface, along with final chart(s). Attach extrements are very and flow rates if gas to surface, along with final chart(s). Attach extrements are very and flow rates if gas to surface, along with final chart(s). Attach extrements are very and flow rates if gas to surface, along with final chart(s). Attach extrements are very and flow rates if gas to surface, along flow reaches and flow rates if gas to surface, along flow rates if gas to surface test, along with final chart(s). Attach care is along flow rates if gas to surface test, along with final chart(s). Attach extrements are reached to surface reached and surface rates in the surface rate of surface reached.  CASING RECORD - New Used Receiver and Satisface rates in the surface rates and surface	wimportant tops and base of formations penetrated. Detail all cores. Report all final copies of dand closed, flowing and shut-in pressures, whether shut-in pressure reached static level, hydrost very, and flow rates if gas to surface test, along with final chart(s). Attach extra sheet if more spisurveyed. Attach final geological well site report.    Yes	wimportant tops and base of formations penetrated. Detail all cores. Report all final copies of drill stems test and closed, flowing and shut-in pressures, whether shut-in pressure reached static level, hydrostatic pressures very, and flow rates if gas to surface test, along with final chart(s). Attach extra sheet if more space is needed surveyed. Attach final geological well site report.    Yes   No	

#### Attachment 1 - Booth #1-28

### Note #1:

Sample	Formation (10p), Depth and Datum							
Name	Тор	Datum						
Cottonwood Foraker CG Stotler Heebner Lansing Stark Shale Marmaton Altamont Pawnee Little Osage Mississippi Che Base Chert Viola Simpson Arbuckle RTD	2974' 3142' 3420' 4132' 4329' 4600' 4756' 4814' 4869' 4869' 5052' 5201' 5390' 5520' 5720'	-867' -1035' -1313' -2025' -2222' -2493' -2649' -2707' -2735' -2762' -2843' -2945' -3094' -3283' -3413' -3613'						

### Note #2:

Surface	Type of Cement	Type and Percent Additives
210 sacks 125 sacks	A-con Common	3% cc, ¼# cellflake 2% gel, 3% cc, ¼# cellflake
Production		
150 sacks	AA-2	10% salt, 5# gilsonite/sack, ¼# CFR/sack

RECEIVED AUG 2 7 2004 KCC WICHITA



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

### Invoice

Bill to:	The state of the s	6395901	Ιπυοί	ce   Invoic	e Date	Order Ord	ler Date
Date to.	OIL PRODUCERS INC. OF KANSAS		40506	5/2	1/04	8298 5	/12/04
•	P.O. Box 8647			S	ervice Desci	ription	
	Wichita, KS 67208		Cement	• •			
	Wichita, KS 07208						
		•					
				Lease		Wel	
				Booth	volume Ord	1-28 er Tern	
AFE		iter	Well	<u> </u>	rchase Ord		
	B. Kasper T. Seba		New We			Net 3	
ID.	<u>Description</u>	<u>U</u>	<u>OM</u>	<u>Quantity</u>	Unit Pric		
D200	COMMON	S		125	\$10.39		
D201	A-CON BLEND (COMMON)	S	K	210	\$13.08	\$2,746.80	
C194	CELLFLAKE	L	В	83	\$2.00		` '
C310	CALCIUM CHLORIDE	L	BS	948	\$0.75		•
C320	CEMENT GELL	L	В	236	\$0.25	\$59.00	(T)
F303	BAFFLE PLATE ALUMINUM, 8 5/8"	E	A	1	\$72.00	\$72.00	(T)
F145	TOP RUBBER CEMENT PLUG, 8 5/8"	E	A	1'	\$145.00		
F123	BASKET, 8 5/8"	E	A	1	\$290.00	\$290.00	(T)
F203	GUIDE SHOE TEXAS PATTERN, 8 5/8	B" E	Α	1	\$285.00	\$285.00	(T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	Y M	П	-50	\$3.25	\$162.50	
E101 .	CAR, PICKUP OR VAN MILEAGE - 1	WAY M	П	50	\$2.00	\$100.00	
E104	PROPPANT / BULK DELIV SERVICES MILE, \$200 MIN	S/TON T	M	790	\$1.30	\$1,027.00	
E107	CEMENT SERVICE CHARGE	S	K	335	\$1.50	\$502.50	
R202	CASING CEMENT PUMPER, 501-1,00 4 HRS ON LOC.	0' 1ST E	<b>A</b>	. 1	\$924.00	\$924.00	
R701	CEMENT HEAD RENTAL	Е	Α	1	\$250.00	\$250.00	
					Sub Total:	\$8,739.55	
					Discount:	\$2,184.89	
				Discount	Sub Total:	\$6,554.66	
	SCEWED K			x Rate: 6.309	% Taxes:	\$272.80	_
	RECEIVED	(T) Tax	able Item		Total:	\$6,827.46	
	AUG 2 7 2004						
	THE STATE OF THE S				•		
•	KCC WICHITA						

	· · ·	INVOICE NO.	1	•	FIELD	ORDER 8	298
		Date 5-12-04	1	to Correction	Wall #	I eggl	
		Customer ID	County	OTH	-2 <u>E</u>     State	Station _	
SER'	VICES,	LLC	Denth 1/	Formation	Ks	Shoe Joint	
c <u>Oth</u>	Roducers	IN OF KS	24		TD TOO!	1 45.13	BAPP/E
H ' A			Casing 878	Casing Depth / 783	184	Job Type/ 85/8 Sille	PACE WELL
R ———— G	•		Customer Repres	entative KASORIL	Treater	T.SE34	·
AFE Number		PO Number	Materials Received by	x Bolo	Lasper		
Product				UNIT PRICE	AMOUNT	ACCO! CORRECTION	UNTING AMOUNT
Code	QUANTITY	MATERIAL, EQUIPMENT and SI	ERVICES USED	UNIT PRICE	AMOUNT	CORRECTION	AWOUNT
D-200	125 SKs 210 SKs	A. CON (Common)	\				
<u>D-201</u> C-194	B3 165	A		_			· · · · · · · · · · · · · · · · · · ·
C-310	948 lbs	Calcium Chlorine					
C-320	236 lbs	CEMENT GEL			7	•.	
F·303	I EA	BAPPLE PLATE Alu	m 85/g				·
F-145	1 EA	TOP Rubber Plub	1'	~			
F-123	1 Eta	A .					
F-203	/ EB	TX PATTERN G SH	loe "	-			
E-100	50 m	Heavy Veh MI	ahada a saganar mar Ku tara-hakkumber bah asi, sebua saki kemera bahas		managament a		
E-101	SO MI	P.U ME					
E-104	790 TM	Bulk Dolwery					
E-107	335 5/1		1				
R.202	I EA		501-1000				
R.701	1 EVA	CMT 14200 RENT	ــــــــــــــــــــــــــــــــــــــ				·
		<u> </u>					<u> </u>
							<u> </u>
	<u>.</u>	· · · · · · · · · · · · · · · · · · ·					
	RF	CEIVED	· · · · · · · · · · · · · · · · · · ·				
		4 2 7 2004					
	AU	CWICHITA					
	KC	C WILLIAM					
		DISCOUNTED PAR	(B)		6,554.66		
		+ JOHES					
					,		<del> </del>
10244 NE	Hiway 61 - P.O	). Box 8613 · Pratt, KS 67124-	8613 · Phone (62	20) 672-1201 · F	ax (620) 672-5383	TOTAL	

### TREATMENT REPORT

							omer IC	0.0.		•.	Date	_	2 - 04			
SERV	+ C E !	5 L	c			Leas	10	Booth				e No.		Well #	· ·	28
ield Brder	Sta	tion F	RAT					Casing 8	S/g Depth.	7 <del>8</del> 3'	Cour	th KI	WA			State
ype Job			CB A	UB W	' W	ELL.			Formation .	784			Legal Desg	cription 28·30	'S ^	17W
	DATA	<u> </u>		RFORAT			A	FL	UID USED			T	REATMEN	NT RES	UME	
asing Size	Tubing	Size	Shots/Ft			מפרת ו		Acid 210 2	SKI A CON			RATE	PRESS	ISIP		
epth 783	Depth		From		То				(1/4 0		Max			5 M	in.	
103 47,1(	Volum	е -	From		То			Pad 12 1/2	SAL 2567	<b>4</b> 3	Min		·.	10 N		
ax Press	Mex P	1086	From		То	TAIL	_		Xi Comma		Avg			151		
rell Connection	n Annul	ıs Vol.	From		То				3/300 /4		HHP U	sed				ressure
lug Depth	Packs	r Depth	From		То			Flush 15 Ki	L 1.36 P	,3	Gas Vo	lume		Tota	al Load	
sustorper Repr	resentative	ASPE	<u> </u>			Station	Manag				T	reater 7.	SE3A			
ervice Units	<u>/ *-</u>	שעכביצ		114		80	)	57	46	72						
∆ Time	Casing Pressure		ubing essure	Bbls.		be		Rate				Servi	e Log			· · · · · · · · · · · · · · · · · · ·
330		1							CALLED	al_						
715					<del></del>	,			ON LOC	whel	ارج کی ۔	SAPETY	MG.			
									Ryu 1	8713	5 83	18 24	1656	SPT	78	33'
11,40									STAGE C	56					•	
3.10									CS6 02	BoTT	rom					···
3,15									Hook 4			Bee	ak cox	<u>i W</u>	en	
3,72				1	<u>o_</u>			5	STALL	Rupp	M		• • •	· · · · · · · · · · · · · · · · · · ·		
				CI	3.73	<u>.</u>		<u>)                                    </u>	STAUT	Ma !	Pun	P 21	0 SKI	120	KAL	,
				35	2.4	9		(	STAZT					احر د	1600	
				120	2, ي	4			SHUT DO	بها	Relo	ose Ph	e G	•		<u>.</u>
	100							5_	START	0230						
4:10	500			4	8		<u> </u>	2	Plub &	1 .		,				
4.12	50		pr.		<u> </u>		<u> </u>		Clase V	ग्रावा	on C	86				
												74.				
									(200			Heu :	503			
		- lot	CEIN	/ED			<del>                                     </del>		ODEC C	MI	10	MIC			<del>.</del>	
	-			1			-		ļ						•	
5.00		AU	G 27	KUUT	A			<u> </u>	J03	Win	p/67		. (1/			
		_kc	C WI	CHIT	<u> </u>				<u> </u>		•	THA		^		
					<del></del>		<u> </u>		-	<del></del>	·		700	IJ		
							<u></u>		124-8613 •		- (606	\ C70_4	201 a Ea	v (600	\ 67	2-5383

Taylor Printing, Inc.



SALES OFFICE: 100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

#### SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

### Invoice

Bill to:	639590	1 Invoid 40510				ler Date /22/04
	OIL PRODUCERS INC. OF KANSAS	10310		ervice Descrip		
	P.O. Box 8647	Cement				
*	Wichita, KS 67208					
			٠	•		
			Lease		Wel	
	,		Booth		1-28	3
AFE	CustomerRep Treater	Well ?	Type Pu	rchase Order	Тегт	ıs
	Bob K Gordley	New Wel	1		Net 3	0
ID.	Description .	<u>UOM</u>	Quantity	Unit Price	Price	
D105	AA2 (PREMIUM)	SK	150	\$13.74	\$2,061.00	(T)
D203	60/40 POZ (COMMON)	SK	25	\$7.84	\$196.00	(T)
C195	•	LB	113	\$7.50	\$847.50	(T)
C221	SALT (Fine)	GAL	762	\$0.25	\$190.50	(T)
C244	• •	LB	36	\$4.50	\$162.00	(T)
C312	GAS BLOCK	LB	106	\$5.00	\$530.00	(T)
C321	GILSONITE	LB	748	\$0.60	\$448.80	(T)
C243	DEFOAMER	LB	15	\$3.00	\$45.00	(T)
C141	CC-1, KCL SUBSTITUTE	GAL	2	\$40.00	\$80.00	(T)
C302	MUD FLUSH	GAL	500	\$0.75	\$375.00	(T)
C303	SUPER FLUSH	GAL	250	\$3.25	\$812.50	(T)
F274	WEATHERFORD CEMENTING SHOE PACKER TYPE, 5 1/2"	EA	1	\$2,950.00	\$2,950.00	(T)
F171	LATCH DOWN PLUG & BAFFLE, 5 1/2"	EA	1	\$250.00	\$250.00	(T)
F101	TURBOLIZER, 5 1/2"	EA	9	\$71.00	\$639.00	(T)
F121	BASKET, 5 1/2"	EA	1	\$205.00	\$205.00	(T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI .	- 50	\$3.25	\$162.50	
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	50	\$2.00	\$100.00	
E104 ·	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	408	\$1.30	\$530.40	
E107	CEMENT SERVICE CHARGE	SK	175	\$1.50	\$262.50	
R212	CASING CEMENT PUMPER, 5501-6000' 1ST 4 HRS ON LOC	EA	- 1	\$2,048.00	\$2,048.00	
R701	CEMENT HEAD RENTAL	EA	1	\$250.00	\$250.00	
RE	CEIVED			Sub Total:	\$13,145.70	
ALIC	2.7.2004	•		Discount:	\$3,280.16	
AUU	2 7 2004			Sub Total:	\$9,865.54	
KCC	WICHITA Kiowa Con PLEASE REMIT TO Acid Service	ınty & State Ta	x Rate: 630	Taxes	\$462.98	



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61-P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

(T) Taxable Item

Total:

\$10,328.52

RECEIVED
AUG 2 7 2004
KCC WICHITA

GREENSBURG - STOC. C. - GE-IN-14E-1/2N-Einto THEN C.G.

·,	g f								**		
ं जि			INVOICE NO.			·	•	EIEI D	ORDE	=R	8528
	,		,		bject to	Correction					0 3 2 0
			Date 5-22-	SY Lease Be	001	H		Vell # /-2	S Legi	<u> 28 -</u>	<i>30-</i> 47
SER	VICES,	LLG	Customer ID	County	TOU	NA	s	state /5	Stati	on Det	711. Ks
0-7		- 00	<u> </u>	/ Donth		Formation	<u></u>		Shoe	Joint	- /
c 6/20	TKODY	CEIS	Duc. of	Casing 4	<del>, T</del>	Casing Depth,	TD		Job Ty	ре	
A				5/	2	5540	2 5	720	lan	<u> CSTP</u>	DK-NW
G				Customer Re	presenta	stive Sof	Ś	Treater	1.6	ORS	LEY
							. 2				
AFE Number		PO No	ımber	Materials Received by	Χ	Bel	Kees	nen	,	•	
Product						100-					OUNTING
Code	QUANTITY	MATE	1- 120-	and SERVICES USED		UNIT PRICE	AMO	JNT	CORREC	STION	AMOUNT
<u>5/05</u>	150 SIL.	1414	L THEM	BUM		_					
<u>5205</u>	25 SK	00/	W POL								· ·
0195	113/6,	FL	4-322				<u> </u>			·	ίζ.
<u> 221 </u>	762 /b.	SIA	2/								
2244	36 /b.	CF	R				<u> </u>				
<u> </u>	106 16.	Gill	5 BLOK								
C32/	748 /b.	67.00	SONITE	•							
<u>e 243</u>	15/6.	DE	FOMMEN	<u> </u>		*	-  -				
0141	2991.	CC	2-/				distribution and state				A MARKATAN OF THE CAMPARA SAFETY AND A SAFET
C302	500gg/.	MI	MDFUS,	H			ļ				4.7
0303	250 ag/.	SUI	ENFIL	SH		-					(1) 12 (4) (2) (1) 12 (4) (2)
FZ74	I EA.	5/2	PACKE	R Stoe							
F171	I EM.	5/2	CHICH	sour Ki	46	_					
E101	9 EA.	5/2	TURBO	CEZER	-						
FIZI	IBA.	5/2	- BASK	ST		-					
E100	Sumile	112	NY VEI	4. MAEH	16					-	
6101	Somile	PSI	Kul n	ADE SHE	5						
E/04	408 TM	BU	IN DEC	IVERY			,				
E107	1755K	(1/2)	NOUT!	and CH	MARI	te					
RZIZ	1814.	PA	Duli Ka	yor Mo	Res	5					
R701	184	Pish	MENT HE	EAD Ren	02						
											•
	RECE	MFA									
			TA								
	KCC A	HOTI		-		,,,,					
,			2								
<u> </u>			MISCE	3	=		9868	5,54			
40044 NC 1	liwey 64 D.O.	Day 06	12 Proff VC 67	124-8613 · Phone	/62N\	672-1201 .					

### TREATMENT REPORT

	ar og				Cu	stomer II	)				Date			<del></del>	············
	C		<b>3</b>		Cu	stomer	0.1	Ś	<u> </u>		5	- 2	2-0	4	
SERV	I C E 5	, L L	C		Le	ase /	300 11	4			Lease No.		We	11#	-Z8
Field Order	Station	1	DA.	11 1/5			Casing	1/2	Depth 500	n	County	TOU	UA		State 1/5
Type Job	200/	255	RS	no	-N	W		Form	nation [	<u>5</u> - د	720	Legal	Description	78.	-30-17
PIPE	DATA		PEF	RFORATI			F	LUID (	JSED			TREAT	MENT RE	ESUM	E
Casing Size	Tubing S	ize	Shots/Ft				Acid				RAT	TE PRE	SS I	SIP	
Depth 500	Depth		From		Го		Pre Pad				Max		5	Min.	
Volume	Volume		From		ro .		Pad				Min		1	IO Min.	
Max Press	Max Pres	8	From		Го		Frac				Avg		1	15 Min.	
Well Connection	n Annulus	Vol.	From		<u>го</u> Го			<del></del>		一	HHP Used		1	Annulus	Pressure
Plug Depth	Packer D	epth	From		Го		Flush				Gas Volume	1		Total Lo	ed
Customer Repr	esentative	B	R			on Manag	or Ac	18	ay		Treater	1/ 1	EPPL	VE	2/
				107	12	6	81	T .	6					-	
Service Units Time	Casing		bing	Bbls. Pu			Rate		<u> </u>		Se	ervice Log	ARB	10	P-5520
11/100	Pressure	Pie	esure						11/	10	RESTIN	7311	/		
900				<del></del>	: "	<b> </b>			Pin	/ <u>~</u>	-6	D'	5%	12	95 TUG
	<del></del>	 						1	Jun)	PIAC	150	this	RA	Was	7-#7
								B	ANTT	- C	1-6-7	7-8-	-10-	12:-	13-14-10
1900				•		<del> </del>		5	57/7		A 500	12:-	RRE	nd.	Coll
100	150C			60	7	<del>                                     </del>		X	DAPK	ALL.	- Runf	1	20 - S	27	PROSHER
720	400			21	<u> </u>	<del>                                     </del>	6		Plan	P	20 h	11 7	2%	1/0	1- HO
	1100	}		17	<u>-</u>	<del> </del> -	6	1	Pinn	P	12 66	1 11.	MAI	F	1164
	1100			3	<u> </u>	1	6		Plant	P	3 661	H.	7000)		<i>w</i> 13 f 1
	400			.6	<del></del>	1	6	1/	Manat	0	6 651	51	IPEV 1	GI	usH
	400			<u>.                                  </u>			6		TIAN B	P	2 661	1 4	->/)		
			,,,,,	-			6	1	111	V	150	SV	AAZ	PH	MENT
	, ,	1	VED		2	<del>                                     </del>		1/2	14 0	FP.	1/10% 1	DETENA	m. 8/1	,	FLA-322
	AUG	5 2 7	2004	·	·	<del> </del>		10	% 514	Tet.	3/10% 6		SLOKE		PUSONO
	KC	W	ICH	TA				5	SONP	- //9	ASH I	ZWZ	5-R	37.E	MSE PLU
	0			0	)	6	ر کے	3	STAV	T	SISP	)			
	300				0		6.2		SIF	7	VME	nst	-		
	800			12			5	<b> </b>	SLOU	J K	ATE	-			
2/30	1500	<b>&gt;</b>			1/2		5		Ru	B E	Sown	1-1	EN	)	
									Ruc	L	HAI	M# -	-2551	r G	140 Por
7700							•	3	086	PM.	PLETE	-7h	Mary	15-	KEVD
	14 NE His		61 A D	O Pov	0612	Drot	+ KC 671	24-9	612 • Dh	one	(620) 672-	1201 •	Fax (62	0) 67	2-5383

## OIL PRODUCERS, INC. OF KANSAS INITIAL COMPLETION REPORT

WELL - BOOTH #1-28

LEGAL - 4840' FSL & 4820' FEL of SEC. 28-30S-17W in KIOWA CO., KS

API# - 15-097-21539

G.L. - 2096'

K.B. - 12' ABOVE G.L. @ 2108'

**SURFACE CSN** -

RTD - 5720'

LTD - 5716' (ELI 5/21/04)

PRODUCTION CSN -

TOP OF CEMENT - 4800' W/ EXCELLENT BONDING

PBTD - 5500'

CIBP -

PERFORATIONS - VIOLA - 5204-5210' 4/FT 6/19/04

**COMPLETION DATE -**

TUBING RAN - 15' M.A., S.N., 170 JTS 2 7/8" (5273.65')

**TUBING SET @ - 5298.75** 

AVERAGE TBG JT. - 31.02'

PUMP RAN - 21/2" x 2" x 14' RWB w/ 6' GAS ANCHOR

RODS RAN - PUMP, 2' x 3/4", 130 - 3/4", 80 - 7/8", 8', 6', 4', P.R.

PUMP SET @ - 5283.75'

PUMPING UNIT - KINCAID 160, S.N. - 16085063 w/ 74" STROKE

PRIME MOVER - C-96

**SURFACE EQUIPMENT** -

12' x 20' 400 BBL FIBERGLASS GUN BBL. 2 - 12' x 15' 300 BBL STEEL STOCK TANKS. 1 - 12' x 12½' 250 BBL STEEL STOCK TANK. 6' x 16' 200 BBL FIBERGLASS WATER TANK.

RECEIVED
AUG 2 7 2004
KCC WICHITA

#### 6/17/04

COMANCHE WELL SERVICE ON LOCATION. RIG UP D-D DERRICK. SHUT DOWN FOR NIGHT.

#### 6/18/04

ELI WIRELINE ON LOCATION TO RUN CORRELATION & DUAL RECEIVER CEMENT BOND LOG.

FOUND TTL DEPTH @ - 3500' FOUND TOP OF CEMENT @ - 4800' w/ EXCELLENT CEMENT BONDING.

COMANCHE SWABBED 41/2" CASING DOWN TO 4800'.

ELI RIGGED TO PERFORATE PROPOSED INTERVAL IN VIOLA UTILIZING 32 GRAM EXPENDABLE CASING GUN.
PEFORATE VIOLA - 5204-5210' 4 SHOTS/FT.

COMANCHE SWABBED WELL DOWN TO 5250'.
1/2 HR NATURAL TEST - RECOVERED NO FLUID OR GAS.

ACID SERVICES ON LOCATION TO ACIDIZE VIOLA PERFS 5204-10' w/ 2,000 GALS 15% DSFE & FOAMER.

#### ACIDIZE VIOLA PERFORATIONS AS FOLLOWS:

PUMP 2,000 GALS 15% DSFE.
LOAD HOLE w/ 77 BBLS.
PRESSURE TO 1700#.
START FEEDING @ ½ BPM 1700-600# 100 GALS.
DISPLACE REMAINING ACID @ 3 BPM - 600-300#.
ISIP - 100#, VAC - 30 SEC.
TTL LOAD = 173 BBLS.

COMANCHE RIGGED TO SWAB BACK ACID LOAD & TEST VIOLA AFTER ACID.

#### **TEST VIOLA AFTER ACID AS FOLLOWS:**

FOUND FLUID LEVEL @ 600' FROM SURFACE.

1 HR SWAB - REC. 105 BBLS, 7% OIL, GOOD SHOW OF GAS.

WELL KICKED OFF FLOWING.

½ HR FLOW - REC. 20 BBLS, NO OIL CUT OR GAS TEST.

½ HR FLOW - REC. 45 BBLS, 77% OIL, TEST GAS @ 754 MCF.

1 HR FLOW - REC. 36 BBLS, 100% OIL, TEST GAS @ 729 MCF.

SHUT DOWN FOR WEEKEND.

#### 6/21/04

<u>SICP</u> - 800 psi BLOW WELL DOWN. FLUID TO SURFACE 4 MINUTES. WELL STARTED FLOWING.

RECEIVED
AUG 27 2004
KCC WICHITA

#### 6/21/04 CONT.

#### CONTINUE TO FLOW TEST VIOLA AS FOLLOWS:

1 HR FLOW TEST - REC. 65.54 BBLS,	100% OIL,	TEST GAS @ 777 MCF.
1 HR FLOW TEST - REC. 45.09 BBLS,		TEST GAS @ 937 MCF.
1 HR FLOW TEST - REC. 40.91 BBLS,		TEST GAS @ 1146 MCF.
@ THIS POINT, WELL QUIT FLOWING	G. START SWAE	BBING.
1 HR SWAB - REC. 35.57 BBLS,	100% OIL,	TEST GAS @ 756 MCF.
1 HR SWAB - REC. 45.92 BBLS,	100% OIL,	NO GAS TEST.
1 HR SWAB - REC. 35.90 BBLS,	100% OIL,	NO GAS TEST.
1 HR SWAB - REC. 25.88 BBLS,	100% OIL,	TEST GAS @ 449 MCF.
1 HR SWAB - REC. 22.54 BBLS,	100% OIL,	TEST GAS @ 398 MCF.
1 HR SWAB - REC. 22.54 BBLS,	100% OIL,	TEST GAS @ 398 MCF.
1 HR SWAB - REC. 22.54 BBLS,	100% OIL,	TEST GAS @ 398 MCF.

SHUT DOWN FOR NIGHT.

#### 6/22/04

<u>SICP</u> - 470# BLOW WELL DOWN. WELL STARTED FLOWING.

#### **TEST VIOLA PERFORATIONS AS FOLLOWS:**

1 HR FLOW - REC. 40.91 BBLS, 100% OIL, TEST GAS @ 779 MCF. WELL DIED.

SIOUX TRUCKING ON LOCATION w/ 2 7/8" TBG AND RODS. UNLOAD TUBING & RODS. PREPARE TO RUN TUBING. WELL STARTED FLOWING AGAIN. WILL SET UP HI-PRESS. TRUCK FOR MORNING.

#### 6/23/04

SICP - 840# BLOW WELL DOWN. KILL & CONTROL WELL w/ 80 BBLS VIOLA OIL.

#### ' RAN PRODUCTION TUBING AS FOLLOWS:

RECEIVED	MUD ANCHOR x 2 7/8"	15.00'
•	SEATING NIPPLE x 2 7/8"	1.10'
AUG 27 2004	170 JTS 2 7/8" TBG	5273.65'
	K.B. (12' < 3' ABOVE G.L.)	9.00'
KCC WICHITA	TUBING SET @	5298.75
KCO VIII	S.N. SET @	5283.75'

RIG TO RUN BOTTOM HOLE PUMP & RODS.

RAN RODS AS FOLLOWS: - 2½" x 2" x 14' RWB w/ 6' G.A.; 2' x ¾" SUB; 130 - ¾" RODS; 80 - 7/8" RODS; 8', 6', 4', 1¼" x 16' POLISHED ROD w/ 8' LINER.

SEAT PUMP. LONG STROKE.

COMANCHE RIGGED DOWN AND MOVED OFF LOCATION.

SIOUX TRUCKING, STREMMEL OILFIELD SERVICE AND SHAWNEE LEASE SERVICE ON LOCATION.

SET TANK BATTERY APPROX 3,000' WEST OF WELL.

TANK BATTER AS FOLLOWS: 12' x 20' 400 FIBERGLASS GUN BBL.

2 - 12' x 15' 300 BBL STEEL STOCK TANKS. 1 - 12' x 121/2' 250 BBL STEEL STOCK TANK.

1 - 6' x 16' 200 BBL FIBERGLASS WATER TANK.

SET KINCAID 160 PUMPING UNIT EAST OF WELL HEAD w/ C-96 ENGINE. HOOK UP WELL HEAD. DITCHED & LAYED APPROX 3,000' - 2 3/8" STEEL TUBING LEAD LINE FROM WELL TO TANK BATTERY SITE. SET 30" x 6' VERTICAL SEPARATOR, LINE HEATER COMBINATION @ WELL SITE FOR GAS SALES, AND TIED TO ANNULUS

NOTE: ONEOK HAS BEEN CONTACTED TO INITIATE GAS CONTRACT AND TIE IN. WILL PUT WELL IN SERVICE AS SOON AS GAS SALES LINE & METER ARE IN PLACE. THIS WELL WILL MAKE A VERY NICE COMMERCIAL OIL & GAS WELL. WE STILL HAVE MISS. GAS BEHIND PIPE.

> **END OF REPORT BRAD SIROKY**

RECEIVED AUG 27 2004 KCC WICHITA